MAULANA ABUL KALAM AZAD VERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



GRADE CARD

FIRST YEAR B.TECH (APM) FIRST SEMESTER EXAMINATION OF 2015-2016

TANIYA DAS

Roll No. 11005215031

gistration No. 151100110127 OF 2015-16

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit Points
HU101 PH101 M101	ENGLISH LANGUAGE & TECHNICAL COMMUNICATION PHYSICS-I MATHEMATICS-I	B D B	7 5 7 6	2.0 4.0 4.0 4.0	14.0 20.0 28.0 24.0
ME101 ES101 PH191 ES191 ME192 HU181 XC181	ENGINEERING MECHANICS BASIC ELECTRICAL & ELECTRONIC ENGINEERING-I PHYSICS-I BASIC ELECTRICAL & ELECTRONIC ENGINEERING-I WORKSHOP PRACTICE LANGUAGE LABORATORY EXTRA CURRICULAR ACTIVITIES (NSS/NCC/NSO ETC.)	C E E O A O	6 9 9 10 8 10	4.0 2.0 2.0 3.0 1.0	24.0 18.0 18.0 30.0 8.0 10.0
	Officer-in-Charge Govt. College of Engineering & Textile Tech Serampore, Hooghly (W.B.)	nelogy	7		
			Total	27	194

		DGPA
SGPA	ODD (1st) SEMESTER: 7.19	
SGPA		•
YGPA		
Result		

College / Institution

GOVT. COLLEGE OF ENGG. & TEXTILE TECHNOLOGY SERAMPORE (110)

Indravil Mukherjee

Controller of Examinations (Actg.)

Kolkata, The

15TH MARCH 2016

MAULANA ABUL KALAM AZAD IVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the

FIRST YEAR B.Tech. (AP) SECOND SEMESTER EXAMINATION OF 2015 - 2016

Name TANIYA DAS

Roll No. 11005215031

Registration No. 151100110127 of 2015-2016

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit
CS201	BASIC COMPUTATION & PRINCIPLES OF COMPUTER PROGRAMMING	В	7	4.0	28.0
CH201	CHEMISTRY-I	A	8	4.0	32.0
M201	MATHEMATICS-II	С	6	4.0	24.0
ME201	ENGINEERING THERMODYNAMICS & FLUID MECHANICS	A	8	4.0	32.0
ES201	BASIC ELECTRICAL & ELECTRONIC ENGINEERING - II	A	8	4.0	32.0
CS291	BASIC COMPUTATION & PRINCIPLES OF COMPUTER PROGRAMMING LAB	E	9	2.0	18.0
CH291	CHEMISTRY-I	E	9	2.0	18.0
ES291	BASIC ELECTRICAL & ELECTRONIC ENGINEERING-II	E	9	2.0	18.0
ME291	BASIC ENGG DRAWING & COMPUTER GRAPHICS	0	10	3.0	30.0
	Officer-in-Charge Govt. College of Engineering & Textile 1 Serampore, Hooghly (W.			20.5	0000
			Total	29.0	232.0
GPA 0	DD (1ST) SEMESTER: 7.19			DGP	A
GPA E	VEN (2ND) SEMESTER: 8.00				
GPA 7	7.61				
tesult F	GOVT. COLLEGE OF ENGG. & TEXTILE TECHNOLO				

Indianil Muklerijee
Controller of Examinations (Actg.)

Kolkata, The 31ST AUGUST, 2016

MAULANA ABUL KALAM AZAD *IVERSITY OF TECHNOLOGY, WEST BENGAL*

(Formerly known as West Bengal University of Technology)



SECOND YEAR B.Tech. (AP) FIRST SEMESTER EXAMINATION OF 2016 - 2017

Vame

TANIYA DAS

Roll No. 11005215031

Registration No. 151100110127 of 2015-2016

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit Points
HU301	VALUES & ETHICS IN PROFESSION	В	7	2.0	14.0
PH301	PHYSICS-II	В	7	4.0	28.0
CH301	BASIC ENVIRONMENTAL ENGINEERING & ELEMENTARY BIOLOGY	A	8	3.0	24.0
TT301	INSTRUMENTATION & CONTROL	0	10	3.0	30.0
APM301	BASICS OF MECHANICAL PROCESSING OF TEXTILES	0	10	4.0	40.0
APM302	APPAREL PRODUCTION-I	E	9	4.0	36.0
PH391	PHYSICS-2 LAB.	E	9	2.0	18.0
TT391	INSTRUMENTATION & CONTROL LAB.	0	10	2.0	20.0
APM391	TEXTILE & GARMENT TESTING LAB.	0	10	2.0	20.0
APM392	APPAREL PRODUCTION LABI	0	10	2.0	20.0
	Officer-in-Charge Govt. College of Engineering & Textile Tech Serampore, Hooghly (W.B.)	nology	Y		
			Total	28.0	250.0

SGPA	ODD (3RD) SEMESTER: 8.93	DGPA
SGPA	EVEN OTH SEMESTIM CESS	
YGPA	8.00	
Result		
College	Institution GOVT. COLLEGE OF ENGG. & TEXTILE TECHNOLOGY, SERAMPORE (110)	

Kolkata, The 16TH MARCH, 2017

Indravil Mukherijee

Controller of Examinations (Actg.)

ABUL KALAM AZAD UMNERSTY OF TECHNOLOGY, WEST BENGAL

af Technology) (Formerly known as West Bengal



SECOND YEAR B.Tech. (AP) SECOND SEMESTER EXAMINATION OF 2011-22118

NAME: TANIYA DAS

ROLL NO.: 11005215031

REGISTRATION NO: 151100110127 OF 2015-2016

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit Points
	NUMERICAL METHODS	В	7	2.0	14.0
M402	MATHEMATICS-3	С	6	4.0	24.0
TT401	THEORY OF MACHINES	С	6	3.0	18.0
APM401	BASICS OF CHEMICAL PROCESSING OF TEXTILES	0	10	4.0	40.0
APM402	APPAREL PRODUCTION-II	О	10	4.0	40.0
HU481	TECHNICAL REPORT WRITING & LANGUAGE LAB PRACTICE	А	8	2.0	16.0
MCS491	NUMERICAL METHODS LAB	А	8	1.0	8.0
TT491	THEORY OF MACHINES LAB	0	10	2.0	20.0
APM491	CHEMICAL PROCESSING LAB-I	0	10	2.0	20.0
APM492	APPAREL PRODUCTION LAB-II	0	10	2.0	20.0
AF 1V1492	ALLANCE		Total	26.00	220.00

SGPA	ODD (3rd) SEMESTER: 8.93
SGPA	EVEN (4th) SEMESTER : 8.46
YGPA	8.70
RESULT	r P
Collogo	Institution GOVT, COLLEGE OF ENGG. & TEXTILE TECHNOLOGY, SERAMPORE(110)

University is not responsible for any errors in transcripts (if any)

N.B.

Incomplete as per MAKAUTWB First Regulation Part 2 Chapter 1 (ii)

A transitory lettergrade I (carrying points 2) shall be introduced for cases where the candidate fails to appear in End Semester examination(s) and where the results are incomplete.

Kolkata 1ST AUGUST 2018

Govt. College of Engineering & Textile Technology Serampore, Hooghly (W.B.)

Controller of Examinations (OSD)

MAULANA ABUL KALAM AZAD IVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)

MALIANA ABUL KALANAZAD UNIVERSITY OF TECHNOLOGY WEST BIRDIAL WEST BIRDIAL



THIRD YEAR B.Tech. (AP) FIRST SEMESTER EXAMINATION OF 2017 - 2018

TANIYA DAS

Roll No.

11005215031

151100110127 of 2015-2016 istration No.

Subject	Sebjects Offered	Letter Grade	Points	Credit	Credit Points
Code	PRINCIPLES & PRACTICES OF MANAGEMENT	A	8	2.0	16.0
HU5111	QUALITY ASSURANCE IN APPAREL INDUSTRY	E	9	4.0	36.0
APM502	TECHNOLOGY OF APPAREL MACHINERIES AND MAINTENANCE	E	9	4.0	36.0
APM503	TECHNOLOGY OF GARMENT FABRIC FINISHING AND CARE	0	10	3.0	30.0
TT504A	STATISTICAL QUALITY CONTROL	В	7	3.0	21.0
APM591	APPAREL QUALITY ASSURANCE LAB	0	10	2.0	20.0
APM592	APPAREL MACHINERIES & MAINTENANCE LAB	0	10	2.0	20.0
APM593	CHEMICAL PROCESSING LAB - II	E	9	2.0	18.0
TT594A	STATISTICAL QUALITY CONTROL	0	10	2.0	20.0
	Officer-in-Charge Govt. College of Engineering & Textila Tec Serampore, Hooghly (W.B.		7		
			Total	24.0	217.0

SGPA ODD (5TH) SEMESTER: 9.04	DGPA
SGPA	
YGPA	
Result	
College / Institution GOVT. COLLEGE OF ENGG. & TEXTILE TECHNOLOGY, SERAMPORE (110)	

Controller of Examinations (OSD)

Kolkata, The

3RD FEBRUARY, 2018

ULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



GRADE CARD

THIRD VEAD B Toch (AD) SE	COND SEMESTED	EXAMINATION C	F 2017-2018

NAME : TANIYA DAS ROLL NO. : 11005215031

REGISTRATION NO: 151100110127 OF 2015-2016

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit Points
HU611	PRODUCTION & OPERATION MANAGEMENT	А	8	2.0	16.0
APM601	APPLICATION OF IT & CAD/CAM IN APPAREL INDUSTRY	Е	9	4.0	36.0
APM602	PRODUCTION PLANNING & CONTROL IN APPAREL INDUSTRY	0	10	3.0	30.0
APM603	APPAREL MARKETING & MERCHANDISING	Α	8	3.0	24.0
APM604A	KNITTING & KNITWEAR TECHNOLOGY	0	10	3.0	30.0
APM605C	Basics of E-commerce	E	9	3.0	27.0
APM691	LAB ON IT & CAD IN APPAREL	0	10	2.0	20.0
APM692	LAB ON PRODUCTION PLANNING & CONTROL IN APPAREL IN	0	10	2.0	20.0
APM693A	LAB ON KNITTING & KNITWEAR TECHNOLOGY	0	10	2.0	20.0
APM694C	E - Commerce Lab	0	10	2.0	20.0
	W STATE OF THE STA		Total	26.00	243.00

SGPA (ODD (5th) SEMESTER: 9.04	
SGPA I	EVEN (6th) SEMESTER : 9.35	
YGPA !	9.20	
RESULT	P	
College / I	Institution GOVT. COLLEGE OF ENGG. & TEXTILE TECHNOLOGY, SERAMPORE	(110)
MAR	Mandatory Additional Requirement	53.0

University is not responsible for any errors in transcripts (if any)

N.B.

Incomplete as per MAKAUTWB First Regulation Part 2 Chapter 1 (ii)

A transitory lettergrade I (carrying points 2) shall be introduced for cases where the candidate fails to appear in End Semester examination(s) and where the results are incomplete.

Kolkata 1ST AUGUST 2018 Officer-in-Charge

Controller of Examinations (OSD)

Govt. College of Engineering & Textile Technology Serampore, Hooghly (W.B.)

Printed On: 24-08-2018 10:44:14